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Q 1: Mohammad is applying for 8 jobs and believes that he has in each case the same probability of 0.42 

getting an offer. What is the probability of getting less than two offers? 
 

𝑋~ 𝑏𝑖𝑛𝑜𝑚𝑖𝑎𝑙 𝑤𝑖𝑡ℎ 𝑛 = 8       &     𝑝 = 0.42  
 

𝑃(𝑋 < 2) = 𝑃(𝑋 = 1) + 𝑃(𝑋 = 0) 

= 0.074188 + 0.012806 

= 0.0869946 
 

 

 

 

 

 

 

 

 

 

Q 2: The monthly worldwide number of airplane crashes averages 3. Assuming that it has a Poisson 

distribution,  

1. Find the probability that there will be at least one crash this month.  

2. If already at least one crash occurred this month, what is the probability that there will be at least 

one more? 

 
 

𝑋~ 𝑃𝑜𝑖𝑠𝑠𝑜𝑛 𝑤𝑖𝑡ℎ 𝜆 = 3       &    𝑡 = 1 𝑚𝑜𝑛𝑡ℎ  
 

1.  

𝑃(𝑋 ≥ 1) = 1 − 𝑃(𝑋 = 0) = 1 − 𝑒3 = 1 − 0.0497871 = 0.950213 
 

2.  

 

𝑃(𝑋 ≥ 2|𝑋 ≥ 1) =
𝑃(𝑋 ≥ 2|𝑋 ≥ 1)

𝑃(𝑋 ≥ 1)
 

=
𝑃(𝑋 ≥ 2)

1 − 𝑃(𝑋 = 0)
 

=
1 − 𝑃(𝑋 = 1) − 𝑃(𝑋 = 0)

1 − 𝑃(𝑋 = 0)
 

=
1 − 0.149361 − 0.0497871

0.950213
 

=
0.800858

0.950213
= 0.842819 

 


